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Exam 2

PLEASE READ ALL THE DIRECTIONS CAREFULLY
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No notes, books, or calculators allowed.

Write answers in lowest terms when appropriate

Show all work. Solutions without proper work will receive no credit.
Present work in a clear, organized manner.
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1. (20 points) Solve each equation for x
a. (6points) 83x+5)—9=9(x—2)+ 14

24y ¥4o-a = Ox -8 +14
24y ¥ 2 = Ax -4

—9x “4x
\Sx 43 =~ x=-15
“3) g 1. 245
Xx= "3
¥
b. (8points)x+-§:x—2x:§—§
Led + Y
2\‘\_{.)(*%)( —'7_)% = 2*{% "%—l
Juy + ¥ux B Ux -3 > X = ’3,
=]
~ 24X r\ox = Ux-3%
-q% —“'X
-\ =%

: 7
c. (6 points) % = %

(x.\-ik\-b = (X'\'\}‘g

(p+ Y7 = Sx-20
o —4z  -S5x “HE
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2. (16 points) Solve the inequalities AND graph the solutions.
a. (8points) x —(2x+5)=>7—-(4—x)+10

X-2%-9 7 F-4+x*tlo
-X =9 7 (3+X
—5'7/\3*'17(

..\g 7 1% Anroreppty—

—-G‘ ?/x
b. (8points) 0< —Zx+3 <2
PL -y
-y 2 g
30 (33 26D e
I ) I ¢ D g

W7 X7 L

3. (10 points) Three sides of a triangle are x, 3x — 1, 2x + 5. The perimeter of the triangle is 64
inches.

a. (2 points) Draw a diagram representing the triangle and the given sides.
b. (4 points) Find the equation for the problem.
c. (4 points) What are values of the triangle’s three sides?

Bx - Pzbyt L) bM = x ¥ +IX*S
O = (ox ¥4Y
/]
S (D = GX
D = X

(‘,3 AL L 2 x =10 iads

y %{Mg - ax)‘_c) = Q.CD ind/\“-
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4. (16 points) For the following equations, find the x-intercept and y-intercept. Then graph the
equation. Be sure to label the intercepts and lines on your graph.

a. (8points) y = —§x+1
X-iat:
Y=o - - f%"x )
Y3y =
X = 3/7,
(3/130-)

\6— \‘(U\ . ('Q \\3

b. (8 points) 3x + 7y = =21

Y-k - k):O
o R
x= -1 (o) =119
g’\l\'\’ . X=0
Fy = -2
g o= -3

(04-3)

5. (16 points) Determine if the following sets of equations are parallel, perpendicular, or neither.

' 4y —x =20 (4
a. (8 points) 2y +4x = —6 C‘g}
Looe o slges
(Y uy = 20%x
Y= S+ Yux
m:‘/q

(2\ 24+ ux ==V
2u = -lo =UX
TR <3 - I
m= -2

N ety

W

b.

o 3x+12y=18 ()
(8 points) 4x + 16y = 24 (23

\’L\ﬂ = \§ =3X
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6. (22 points) Write the equation of the line in slope-intercept form given the following
information.
a. (5points) (0,—-2), m :g b. (S points) (3,—1), m=0
Ei Lp inadveaxes
S: 2 X =2 ‘ nodzonted
‘ N
3= -l
c. (6points) (=3,4), (6,—14) d. (6points) (—2,4), (—2,1)
- W g e
e WM 2B .
\m T3k g C Z \7 x doesik

- - ol Unagl
(3= = &x+2)cD) Ondicokes vackcad Sing
‘ﬁ"'\ = -2x —W0

3=~ -7\ e

Bonus (10 points) Find three consecutive even integers such that the second added to twice
the first is 18 more than the third. W \ V2 ) ‘w\_\.q

2n += MWL = Ay R

XL T n+L
Zn = 2.0

TWL Pacee nuwleys
owe
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